The examination papers as set for the pupils of schools in union with the
College of Preceptors at midsummer, 1859.

Contributors

College of Preceptors (London, England)
Royal College of Surgeons of England

Publication/Creation
London : C.F. Hodgson, [1859]

Persistent URL

https://wellcomecollection.org/works/sqnjfsk5

Provider

Royal College of Surgeons

License and attribution

This material has been provided by This material has been provided by The
Royal College of Surgeons of England. The original may be consulted at The
Royal College of Surgeons of England. where the originals may be consulted.
This work has been identified as being free of known restrictions under
copyright law, including all related and neighbouring rights and is being made
available under the Creative Commons, Public Domain Mark.

You can copy, modify, distribute and perform the work, even for commercial
purposes, without asking permission.

Wellcome Collection

183 Euston Road

London NW1 2BE UK

T +44 (0)20 7611 8722

E library@wellcomecollection.org
https://wellcomecollection.org



http://creativecommons.org/publicdomain/mark/1.0/













COLLEGE OF PRECEPTORS.

(Incorporated by Koyal Charter.)

- —_—— mm——————

PUPILS' EXAMINATION,— Midsmmmer, 1859.

ARITHMETIC.
(Becond and Third Classes.)

T i value of this paper is 200 Marks. No Third Class Candidate will pass unless
i m{:r::‘l 1;1:t B0 mu_rksl: :-E:nr any Second Class Candidate unless he obtains at least 40.]

1. Define * Reduetion ® and  Practice.” Explain ¢ Multiplication * and ¢ Division’ as
applied both to integers and to fractions.

2. Rednce,—
(i.) 845600 farthings into threepences, shillings, and pounds.

(ii.) 12345 English ells into quarters, nails, and inches.
(iii.) 175 miles into furlongs, poles, and yards.
3. Find, by Practice, the value of,—
(i.) 8825 articles at 2. 17s. 43d. each,
(ii.) 84 ewt. 3 qra. 14 1bs. of sugar, at 12/, 11+, 8d. per cwt.
4. How many tons of coal can be purchased for 815/ 8s.104d., at 17s. 3}d. per ton ?

5. A wheel makes 514 revolutions in passing over 1 mile 476 yards 1 foot. Whatis
its circumference ?

6. A person bought 1763 yards of cloth at 5s. 34d. per yard, and retailed it at
6s. 11d. per yard. What was his profit ?

7. A bankrupt owes 35491., and can pay 17s. 6d. in the pound. What are hiseffects
worth, and what loss do his ereditors sustain ?

8. If I get 8 oz. of bread for 6d. when wheat is 15, a bushel ; what onght a bushel
of wheat to cost, when I get 12 oz. of bread for 4d.?

9. ¥Find the greatest common measure of,—
(i.) 28, 84, 154, and 343. (ii.) 896, 5184, and 6914.
Find the least common multiple of,—
| (i.) 24, 10, 32, 45, and 25. (ii.) 225, 265, 289, 1023, and 4095.
10. Reduce the following expressions to their simplest forms :—

& o 3
J Th o+ — 4+ Z of . of 19§.
() 7% e ¥

S 1 2 17 11
@ s +g-mrtH "

il. l -5 E.t E = ® :
(1(31, 9+2)‘{3§ 21
(iv.) (8315 x 025%) = (314" + 2015 — 4:1635.)

11. Express 125, 63d.; 15s. 93d., and 47, 13s. 4}d. as decimals of 17, ; and reduce
12 hrs. 55 min. 24 see. to the decimal of a day.

12. By selling goods at 8 shillings, 1 lost 16 per cent.; ut what rate should I sell
them to gain 7 per cent. ?






COLLEGE OF PRECEPTORS.

{Incorporated by Hoyal Charter.)

PUPILS' EXAMINATION.— Midsummer, 1859.

ENGLISH GRAMMAR, ANALYSIS, AND COMPOSITION.

(Firat and Sscond Classen.)

(N.B. Questions, &e., marked with an asterisk are intended only for Candidates fora First
Class Certificate, who may omit guestions 4 and 8 The total number of marks for this
paper is 200. Second Class Candidates must obtain at least 30 marks; First Class
Candidates at least 40.)

1. Enumerate and define the Parts of Speech.
2.% Mention some eonnective words which are not conjunetions.

3.% [s the definition usually given of the Relative Pronoun applicable to any
other pronouns?  What is the distinctive characteristic of the Relative Pronoun ?

4, What is indicated by the apostrophe placed before the s in the possessive
case singular of a noun ?

5. Define the Degrees of Comparison of adjectives. Give a list of adjectives
which have irregular forms for the Comparative and Superlative Degrees.

6. Define Aective Foice and Passive Toice.

7. Take some English verb and analyse the compound tenses in the Indicative
Mood of the Active Voice.

8. Give a list of verbs which may be followed by a dependent verb in the
infinitive mood without the intervention of the preposition fo.

9.* Give a list of prefixes and suffixes by which derived verbs may be formed
from primary verbs, with examples of each.

10. When 18 the subject of a sentence said to be enlarged 7

11. Mention the varions kinds of secondary or subordinate clanses that may
ocenr in compound sentences,

12, Analyse one of the following passages :

@. By ceaseless action all that is subsists.
Constant rotation of the unwearied wheel
That Nature rides upon, maintains her health,
Her beauty, her fertility. She dreads
An instant's pause, and lives but while she moves.
Its own revolvency upholds the world.
Winds from all quarters agitate the air,
And fit the limpid element for use,
Else noxions. Oceans, rivers, lakes, and streams
All feel the freshening impulse, and are eleansed
By restless undulation,

b.* See the sole bliss Heaven could on all bestow,
Which who but feels, can taste, but thinks, can know ;
Yet, poor with fortune, and with learning blind,
The bad must miss, the good, untaught, will find,
Who wickedly is wise, or madly brave,
Iz but the more a fool, the more a knave.

13. Write down all the words in extract @ which (directly or indirectly) are
of Latin or Greek origin, and trace the derivation of ten of them.

14. Write a short eomposition on one of the following subjects :—

«. Hannibal. b. Milton.
¢. The English Constitution, i. The Printing Press,






























COLLEGE OF PRECEPTORS.

{Incorporated by Royal Charter.)

PUPILS’ EXAMINATION.— Midsummer, 1858,

GEOGRAPHY.
(FIRST AND SECOND CLASSES)

{N.B.—The total value of this Paper iz 150 marks. No Candidate will pass who does not obtain at
least ome fifth of the marks.)

1. What is comprised in a knowledge of Physical Geography ?

9. State some of the facts which tend to prove that the earth is a
round body.

8. When we are nearest to the sun our climate is much colder than
when we are most remote from it. Explain this.

4. Compare the direction of mountain systems in the New and Old
Worlds, and trace in a connected view the general lines of the great
mountain systems of the globe.

5. Upon what does the course and magnitude of a river degeud?
Enumerate the larger rivers, and name the seas into which they fall,

6. To what propertics of the atmosphere are winds to be referred ?
What is the principal agent in producing winds? Where do the trade
winds prev:ljlg What regions are visited by the monsoons, typhoons,
and cyclones ?

7. Enumerate the causes which determine physical elimate. What are
isothermal and isochimenal lines ?

8. Where upon the earth’s surface is the amount of heat greatest, and
why P

9. Explain fully the causes of tides. What are spring and neap tides ?
Mention seas in which there are no tides, and account for this fact.

10. Trace the direction of the great oceanic current, and name its
branches in the Pacific and Atlantic. State all you know about the Gulf
Stream.

11. What are the chief objects of culture in India, the United States,
France, Holland, China, Cape Colony, and Southern Australia? From
what countries do we procure cork, currants, raisins, figs, prunes, olives,
sponge, and spices 7

12, Write down all you know about Australia, and explain why ships
sailing from Atlantic ports to it, double the Cape of Good Hope, and
when homeward bound return by Cape Horn.

13. Mention some of the battle-fields in Germany, England, Russia,
Bavaria, Italy, the Netherlands, Spain, Asia, Africa, and America. Of
what nations were the contending armies ?

14. A friend of yours who left his “ English Home * many years since,
writes you a letter in which he asks you to mention some of the Great
Trunk lines of Railway that have been laid down, and what points of
land are now connected by the Submarine Telegraphic Cable. "ell him
all you know about the matter.






COLLEGE OF PRECEPTORS.

{ Incorporated by Royal Chartur.)

PUPILS' EXAMINATION,— Midsummer, 1839.

GEOGRAPHY.

(THIRD CLASS.)

{The total value of this Paper is 100 marks. No Candidate will pass who does not obiain at least
one fifth of the marks.)

1. Write down the names of the natural divisions of land and
water.

2. Mention some of the larger mountain ranges, rivers, and lakes, upon
the earth’s surface.

3. Name some of the larger islands, and state where they are
situated.

4. Give the names of some of the plants, and of the wild and domestic
animals, most useful to man, as articles of food and clothing.

5. Write out the names of the political divisions of Europe with their
capitals.

6. What are the principal states of the Germanic confederation ?

7. Draw an outline Map of the British Islands, and mark upon it the
courses of some of the chief rvers.

8. Where are the British coal fields situated, and from what districts
in Great Britain and Ireland are the most valuable metals obtained ?

9. State the principal sea-ports in the British Islands, and underline
those in which there are Royal Dockyards.

10. Enumerate the British Colonies and foreign possessions. What
are the Presidencies of British India? Mention some of the largest
cities and towns in India. Who now rules over nearly the whole of Hin-
doostan ?

11. State where the following towns and cities are situated: viz,
Florence, Hong Kong, Dantzie, Adelaide, Lyons, Cape Town, Novogorod,
Melbourne, Potsdam, Liege, Sierra Leone, Odessa, and Trieste.

12, When it 13 12 o’clock at Greenwich, what time 1s it at St. Peters-
burg, and what time is it at all places under the meridian of 75° west
longitude ?






COLLBEGE OF PRECEPTORS.

(Incorporated by Royal Charter )

PUPILS' EXAMINATION.— Midsummer, 1859,

FRENCH.
FIRST AND BECOND CLASSES.

{(N.B.—The total number of marks for this Paper iz 200. No Second Class Candidate will
pass who does not obtain at least 30 marks. First Class Candidates must gain at least
40 marks.)

1. Translate into French :—

“ Let us sit down by the fire. The great poet Milton lived sixty-six years.
Every body will know it to morrow. The duke of Wellington was born in 17639,
and died in 1852. I would come if I eould. His horse is worth fifty pounds.
I cannot go out this evening.  Will you send the servant to the post-office ? Ciesar
came, saw, and conquered. We will embark at Dover in the evening. I re-
member it well. We had just dined when he came. Stay and take tea with us.
Which of these books is yours? Tell him to send it to me to-morrow morning.
Remember me at home. I have not heard from him since he left England. He
came back on the 15th of last month. He comes to town twice a week. s your
brother at home ? No, sir, he is not. I will write to him this evening. I want
twenty pounds. He broke his leg. I have a sore throat. She has a headache.”

2. Translate into English :—

i Fréderie IT prenait beaucoup de tabac; pour s'éviter la peine de fouiller dans
sa poche, il avait fait placer sur chague cheminée de son appartement une tabatiére
ot il puisait an besoin. Un jour, il voit de son cabinet un de ses pages qui, ne se
croyant pas vu et curienx de gouter du tabae royal, mettait sans fagon les doigts
dans la boite ouverte sur la cheminée de la piéce voisine. Le Roi ne dit rien
d’abord ; mais au bout d'une heure il appelle le page, se fait apporter la tabatiére,
et aprés avoir invité l'indiscret & y prendre une prise : ¢ Comment trouvez-vous ce
tabac ?° ¢ Excellent, Sire.” °© Et cette tabatiére?* ¢ Superbe, Sire,” © Hé bien!
Monsieur, prenez-la, car je la erois trop petite pour nous deux.”

3. What orthographical changes take place in verbs of the first conjugation
ending in ger, cer, eler, efer, ayer? ;

4. Give the rules for forming adverbs from adjectives, and write examples.

5. What mood of the verb is used after a preposition ?

6. In what mood and tense should you put the verb following falloir ? Give
examples.

7. Write a short letter in French.
8. Give with examples the syntax of the words nu, demi, excepté, supposé.

9. Parse the following sentences, and explain the construction of the participle
past in each :
Les livres que vons m'avez apportés.
Lies chaleurs qu'il a_fzif pendant 1 été.
Les personnes que j'ai enfendues chanter.
Les chansons que jai enfendu chanter.
























COLLEGE OF PRECEPTORS.

(Ineorporated by Koyal Charter.)

1859,

PUPILS' EXAMINATION.

LATIN.
(FIRST CLASS)
(N.B.—Candidates need not take more than two anthors, one Irmﬂl. the other poetical. The total

number of marks for two aunthors is 250 ; and we Candidate will pass whe does not obtain
at least 50 marks:)

VIRGIL—.ExErp, Lis, I.—III.

Translate into English ;—

Postquam introgressi, et cormn data copia fandi,
Maximus Ilioneus placido sic pectore coepit :

O regina, novam euni condere Jupiter urbem
Justitiagque dedit gentes frenare superbas,

Troes te miseri, ventis maria omnia veeti,
Oramus : prohibe infandos a navibus ignes ;
Parce pio generi, et propius res adspice nostras,
Ion nos aut ferro Libycos populare Penates
Venimus, aut raptas ad litora vertere praedas ;
Non ea vis animo, nec tanta superbia victis.

Est loeus, Hesperiam Graii cognomine dicunt,
Terra antiqua, potens armis atque ubere glebae;
Oenotri coluere viri ; nune fama, minores
Italiam dixisse ducis de nomine gentem.

Questions.

(i) Supply the ellipses in the first and second lines.  (ii.) Who was the queen here
addressed ?  (iii.) Explain the use of the accusative ‘maria omnia.’ (iv.) What con
struction would be employed in prose instead of the infinitives “ populare and © vertere” ?
(v.) State the etymology of the following words: coram, condere, infandos, potens,
(vi.) Secan the last four lines.

Translate info English : —

O patria, o diviim dowus Ilium, et incluta bello
Moenia Dardanidum ! gquater ipso in limine portae
Substitit, atque utero sonitum guater arma dedere,
Instamus tamen immemores caecigque furore,

Et monstrumn infelix sacrata sistimus arce.

Tune etiam fatis aperit Cassandra futuris

Ora, dei jussn non unguam credita Teueris.

Nos delubra defim miseri, quibus nltimus esset
1lle dies, festa velamus fronde per urbem.
Vertitur interea coelum, et ruit oceano nox,
Involvens umbra magna terramgue polumque,
Myrmidonumgue dolos; fusi per moenia Teueri
Conticuere; sopor fessos complectitur artus.

(i.) What are the nominatives to ‘substitit’ and ‘instamus’? (ii.) Give an account
of the “monstrum * here spoken of.  (iii.) Who was Cassandra ? and what God is alluded
to? (iv.) What is the antecedent to ‘quibus’ ? (v.) What is the object of the verl
‘velamus* 7 (vi.) Give the roots of the following words : ineluta, immemores, monstrum,
delubra, conticuere.

HORACE—OpEs, Lin. I.—III.
Translate into English :—

Mercuri, facunde nepos Atlantis, te eanam, magni Jovis et deornm
qui feros cultus hominun recentum nuntium, eurvaeque lyrae parentem ;
voee formasti catus, et decorae callidum, quidquid placuir, jocoso

more palaestrae : : condere furto,



Te, boves olim nisi reddidisses Quin et Atridas, duce te, superbos

per dolum amotas, puerum minaei Ilio dives Prinmus relicto
voce dum terref, viduus pharetra Thessalosque ignes et iniqgua Trojae
risit Apollo. castra fefellit.

Tu pias laetis animas reponis

sedibus, virgaque levem coerces

aurea turbam, superis deorum
gratus et imis.

Cuestions.

(i.) Give an account of the events referred to in the third and fourth stanzas. (ii.)
What was that funetion of Mereury which is spoken of in the last stanza? (iii.) In
what cases are the following words, and on what is each dependent ?—palaestrae, callidum,
te (3rd stanza), pharetra, Trojae, sedibus,

TLranslate into English :—

Quid tristes querimoniae, magnum pauperics robrium jubet
si non supplicio eulpa reciditur: quidﬁat fnm paﬁp )

quid leges sine moribus virtutisque viam deserit arduae ?
vanae proficiont ? si neque fervidis Vel nos in Capitolium,

pars inclusa caloribus quo clamor vocat et turba faventium,
mundi, nec Boreae finitimum latus, vel nos in mare proximumn

durataeque solo nives gemmas et lapides anrum et inutile,
mereatorem abigunt ? horrida callidi summi materiem mali, _

vineunt aequora navitae ? mittamus, scelernm si bene poenitet.

Questions.

(i.) What is the metre of this ode? Scan the last four lines. (ii.) To what verb is
¢ querimoniae’ the nominative ?  (iii.) In what cases are ‘ Boreae’ and ¢ opprobrium’ ?
(iv.) With what must ¢ in Capitolium ’ be connected # (v.) Explain the eonstruction of
‘poenitet,” and similar verbs. (vi) Give the etymology of the following words :
querimoniae, reciditur, abigunt, mercatorem, summi. (vii.) Bentley reads * deserere’
instead of ‘deserit.’ What arguments may be alleged in support of this conjecture ?
How may the common reading be defended ?

CICERO—DE SENECTUTE.

Translate into Eugh}s-ﬁ e

Screio. Saepenumero admirari soleo enm hoe C. Laelio tum ceterarum rernm tnam
excellentem, M. Cato, perfectamque sapientiam, tum vel maxime quod nunguam senec-
tutem tibi gravem esse senserim, f%l:.e plerisque senibus sic odiosa est ut onus se Aetna
gravius dicant sustinere. Caro. Rem haud sane difficilem, Scipio et Laeli, admirari
videmini. Quibus enim nihil est in ipsis opis ad bene beateque vivendum, iis omnis
aetas gravis est: qui autem omnia bona a se ipsi petunt, iis nihil potest malum wvideri
quod naturae necessitas afferat. Quo in genere est in primis senectus, quam ut adipis-
cantur omnes optant, eandem acensant adeptam : tanta est stultitine inconstantia atque
perversitas. Obrepere aiunt eam citius quam putavissent, Primum, quis coegit eos
falsum putare? Quid enim citins adolescentiae senectus gquam pueritine adolescentia
obrepit 7 Deinde, qui minus gravis esset iis senectus, s octingentesimum annuin
agerent quam octogesimum ? elerita enim aetas quamvis longa quum effluxisset,
nulla consolatione permuleere posset stultam senectutem.

tions.

(i.) Explain the use of the subjunetive in the sentences to which the following verbs
belong : senserim, dicant, adipiscantur, esset, agerent. (ii.) What is the distinetion
between deponent and other verbs ?  Make a list of all the deponent verbs in the pas-
sage. (iil.) Give the derivation of the following words : excellentem, difficilem, genere,
adipiscantur, perversitas, coegit, adolescentiae. (iv.) If the whole duration of human
life be divided into four ages, three of which are here mentioned, what Latin term may
be used to designate the fourth? '

Translate into Latin :—

(1) In-young-men endowed with a good disposition wise old-men take-pleasure, and
the old-age of those who are respected and beloved by the young becomes more-tolerable.
(2) Lysander the Lacedemonian, of whom I made mention just now, was wont, they
say, to say that Sparta was the most honorable abode of old-age: for nowhere is
so much (respect) given to age, nowhere is old-age more respectable. (3) All men who
deliberate respecting doubtful matters ought to be free from hatred, friendsbip, anger,
and compassion.



COLLEGE OF PRECEPTORS.

{Incorporated by Royal Charter.)

PUPILS' EXAMINATION,— Midsummer, 1859,

LATIN.
(SECOND CLASS.)

(N.B. The total number of Marks for the Caesar, and either the Virgil or the Horace, is 200
and wo Candidate will pass, who does not obiain at least 40 marks.)

CAESAR,

I. Translate into English : —

Ha.. eodem tempore Caesari mandata referebantur, et legati ab Aeduis et a Treviris
veniebant : Aedui questum quod Harudes gui nuper in Galliam transportati essent, fines
eorum popularentur ; sese ne obsidibus quidem datis pacem Ariovisti redimere potuisse :
Treviri autem, pagos centum Suevorum ad ripas Rheni consedisse, qui Rhenum transire cona-
rentur ; iis pracesse Nasuam et Cimberium fratres. Quibus rebus Caesar vehementer com-
motus, maturandum sibi existimavit, ne si nova manus Suevorum cum veteribus copiis
Ariovisti sese conjunxisset, minus facile resisti posset.

Questions.

{(i.) Decline the following words: eodem (three genders), fines, rebus, manus. (ii.)
Write the nom, sing. of the following words, and state the gender of each : tempore, obsidibus,
pacem, copiis. (iil.) State to what part of speech each of these words belongs: et, ab,
quod, guidem, potuisse, centum, vehementer, maturandum, sibi, minus. (iv.) What sub-
stantive does each of the following pronouns represent —eorum, sese, iis, sibi, sese (con-

ﬁ;mimfﬂ’ (v.) On what is ‘ questum’ dependent, and to what class of words does it
DN

I1. Translate into English .—

Lerionis nonae et decimae milites, ut in sinistra parte aciei constiterant, pilis emissis,
cursu ac lassitndine exanimatos valneribusque confectos Atrebates (nam his ea pars obvene-
rat) celeriter ex loco superiore in flumen compulerunt, et transire conantes insecuti gladiis
magnam partem eorum impeditam interfecerunt. Ipsi transire flumen non dubitaverunt, et
in locum iniguum progressi, rursus regressos ac resistentes hostes redintegrato proelio in
fugam dederunt.,

Questions.
(i.) From what more simple words (roots) are the following derived }—lassitudine,
exanimatos, confectos, transire, iniguum, redintegrato. (ii.) Write out all the six persons of

the tenses to which the following verbs belong :—obvenerat, dederunt, proeliabantur.  (iii.)
Point out any examples of the ablative absolute in the passage.

[11. Translate into Latin :—

(N.B. All the Latin words required are contained in the second passage from Caesar; so that the
Candidate has merely to make the needful changes in the forms of the words.)

L. The ninth legion has posted-itself on the higher ground.

hﬂ. The soldier was killed with a javelin, while-endeavouring to pursue the ememy across
the river.

3. A great part of the soldiers, having advanced to the bank of the river, was routed by
the Atrebates.

4. We ourselves will not hesitate to renew the battle.

VIRGIL.
I'V. Translate into English :—

1. Ae veluti magno in populo cum saepe coorta est
Seditio, saevitque animis ignobile vulgus ;
Jamque faces ac saxa volant, furor arma ministrat.
Tum pietate gravem ac meritis si forte virum quem



Conspexere, silent, arrectisque auribus adstant
1ste regit dictis animos et pectora mulcet :

Sie cunctus pelagi cecidit fragor, aequora postquam
Prospiciens genitor, coeloque invectus aperto,
Flectit equos, eurrugue volans dat lora secundo,

2, Solvite corde metum, Teueri, secludite curas.
Res dura et regni novitas me talia cogunt
Moliri, et late fines custode tueri.
Cuis genus Aeneadum, quis Trojae nesciat urbem,
Virtutesque virosque, aut tanti incendia belli ?
Non obtusa adeo gestamus pectora Poeni,
Nee tam aversus equos Tyria Sol jungit ab urbe,
seu vos Hesperiam magnam Saturniague arva,
Sive Erycis fines regemque optatis Acesten,
Auxilio tutos dimittam, opibusque juvabo,
Vauitis et his mecum pariter ccnsidere regnis ?
Urbem quam statuo, vestra est; subducite naves ;
Tros Tyriusque mihi nullo diserimine agetur.

(Juestions.

On passage (1.) (i.) What is the name of the metre in which the Aeneid is written ?
State its principal rules, and scan the first five lines of the passage. (ii.) What is the cor-
relative here to veluti ? (iii.) What is the subject of conspexere 7 How do you account for
the verb being plural? (iv.) Who is designated by the word genitor }——On pa.ssa.%s {2.)
(i.) By whom were these worids spoken? (ii.) What war is that mentioned in v. 57 (iii.)
What countries are meant in vv. 8 and 97 Explain the form Acesten. (v.) Explain the
construction of the sentence, * urbem guam statuo vestra est,’ and of the dative * mihi.? (vi.)
Write out the 1st pers. sing. of the present (imperfect) and (present) perfect of the following
verbs, with their supines :—solvite, secludite, cogunt, jungit, optatis, dimittam, vultis, tuer,

HORACE.
V. Translate into English :—
1. Neque te silebo defluxit saxis agitatus humor ;

Liber; et saevis inimica virgo concidunt venti, fugiuntque nubes :
belluis ; nec te, metuende certa, et minax—di sic voluere—ponto

Phoebe, sagitta. unda recumbit.
Dicam et Alciden, puerozque Ledae, Romulum post hos prius, an guietum
hune equis, ilium superare pugnis Pompili regnum memorem, an supecbos
nobilem : guorum simul alba nautis Tarquini fasces, dubito, an Catonis

stella refulsit, nobile letum.

2. Oeccidit et Pelopis genitor, conviva deorum,

Tithonusque remotus in auras,

et Jovis arcanis Minos admissns ; habentque
Tartara Panthoiden, iterum Oreo

demissum, quamvis, clypeo Trojana refixo
tempora testatus, nihil ultra

nervos atgue cutem morti concesserat atrae ;
judice te non sordidus anctor

naturae verique. Sed omnes una manet nox,
et caleanda semel via leti.

Dant alios Furise torvo speetacula Marti :
exitio est avidum mare nautis.

Questions.

On passage (1.} (i.) What is the metre of this Ode ? Secan the first stanza. (b.) Who
was the ‘ virgo’ here mentioned ? (iii.) In what case are the words ‘ inimica virgo' ?  (iv.)
Give an account of the persons mentioned in the second stanza. (v.) What constellation is
designated by the words ‘alba stella’?  (vi.) Explain the historical references made by the
phrases, * quietum Pompili regnum,’ ¢ superbos Tar%ini fasces,’ and * Catonis nobile letum.’
On passage (2.) (i ) Who was Pelopis genitor ?  Explain the allusion in v. 1. (ii.) Who
is meant by Panthoiden > Explain the expression, ‘ éferum Orco demissum.’ (jii.) Explain
the construction of v. 12,
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I. Traunslate into English :— :

1. Non solum ipsa fortuna cacca est, sed eos etiam plerumque efficit caecos quos complexa
est.

2, Nulla possessio, nulla vis auri et argenti pluris quam virtus aestimanda est.

3. Non satis magnam homines tribuunt inventoribus gratiam. . : ’

4. Historia est testis temporum, lux veritatis, vita memoriae, magistra vitae, nuntia
vetustatis.

5. Patria est communis omnium parens.

6. Apud bonum judicem argumenta plus quam testes valent.

Questions.

i.) Which are the nominatives to the following verbs ?—complexa est, tribuunt, valent.
{1[.() In what cases are the following words, and by what is each of them governed ?—eos,
gratiam, inventoribus, temporum. (iii.) Decline the following substantives: possessio,
auri, virtus, judicem. .

CAESAR.
II. Translate into English :—

Interea ea legione quam secum habebat militibusque gui ex provincia convenerant, a lacu
Lemanno, qui in flumen Rhodanum influit, ad montem Juram qui fines Sequanorum ab
Helvetiis dividit, millia passuum decem novem murum, in altitudinem pedum sedecim, fos-
samgue perducit. Eo opere perfecto, praesidia disponit, castella communit, quo facilius, si
se invito transire conarentur, prohibere possit. Ubi ea dies, quam constituerat cum legatis,
venit, et legati ad enm reverterunt, negat se more et exemplo populi Romani posse iter ulli
per provinciam dare ; et si vim facere conentur, prohibiturum ostendit.

Questions.

(i.) Write the nom. sing., and state the gender of each of the following words : militibus,
lacu, flumen, montem, altitudinem, pedum, opere, legatis, more, vim. (ii.) State the
conjugation, tense, mood, and voice of each of these verbs: habebat, convenerant, influit,
transire, conarentur, possit, reverterunt, posse, conentur. (iii.) For what substantive does
each of the following pronouns stand ?*—quam, qui (ex provincia), qui (fines), se, eum, (iv.)
‘What b;:ln: the modern names of lacus Lemannus and flumen Rhodanus, and where are they
sitnated :

III. Translate into English :—

Prima luce, quum summus mons a T. Labieno teneretur, ipse ab hostium castris non
longius mille et quingentis passibus abesset, neque, ut postea ex captivis comperit, aut
ipsius adventus aut Labieni cognitus esset, Considius equo admisso ad eum accurrit ; dicit
montem quem a Labieno occupari voluerit ab hostibus teneri; id se a Gallicis armis atque
insignibus cognovisse., Caesar suas copias in proximum collem subdueit, aciem instruit.
Labienus, ut erat ei pracceptum a Caesare, ne proelium committeret nisi ipsins copiae prope
hostium castra visae essent, ut undigue uno tempore in hostes impetus fieret, monte cccupato
nostros exspectabat proeliogue abstinebat. ;

Questions.

(i.) Decline in full the following words: ipse (three genders), captivis, copias,
impetus. (ii.) Write out in full (three singular persons, three plnral% the tenses to which
the following wverbs belong : teneretur, dicit, voluerit, fieret, abstinebat. (iii.) What was
Caesar’s distance from the enemy’s camp, in English miles? (iv.) What are the compara-
tives corresponding to the superlatives, primus, summus, and proximus ?

IV. Translate into Latin :—

(N.B. All the Latin words required are contained in the second passage of Cassar ; g0 that the Can-
didate has merely to change the forms of the words as the sense renders necessary.)
1. I was not more than 500 paces from the mountain.
2. The prisoners had ascertained that the nearest hills were held by our forces.
3. You had instructed me not to make an attack upon the camp.
]|i!-JL We learnt that-fact from the prisoner who was awaiting our arrival on the top of the
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1. Define a superficies, right angle, rhombus, and parallelogram.

2. Enunciate and prove Prop. 4., Book L f :

8. The exterior angle of a triangle is greater than either of the interior and opposite
angles. Prove both cases. .

4. Through a given point draw a straight line parallel to a given straight line. How
would you do this practically ? e

5. If the sides of a quadrilateral figure be bisected, and the points of bisection joined,
the included figure is a parallelogram.

6. 1f a straight line be divided into two equal and also into two unequal parts, the
rectangle contained by the unequal parts, together with the square of the line between
the points of section, is equal to the square of half the line.

7. Describe a square that shall be equal to a given rectilineal figure.

8. Distingnish between the angle in a segment, and the angle of a segment. How
is the latter measured ?

9. If from a ﬁvoint. within a eircle more than two equal straight lines be drawn to the
circumference, that point is the centre of the circle, ‘H:l:}w would the proof fail, it there
were only two such lines ?

10. The angle at the centre is double the angle at the circumference upon the same
base. Is this true, when the base is not less than a semicirele 1

11. The angle in a semicircle is a right angle ; the angle in a segment greater than a
semicivele is less than a right angle; and the angle in a segment less than a semicirele
is greater than a ﬁ%ht angle.

12. If two straight lines intersect at right angles within a eirele, the rectangle con-
tained by the segments of one is equal to the square of half the other.

TRIGONOMETRY.

1. Define the sine, cosine, and tangent of an angle, and trace the variations in sign
and magnitude which the cosine undergoes as the angle increases from 0 to 360°,

2. Prove that,

. sin A i e -
I:Tq} tﬂﬂ. J!. = m {l]l-J 111 A + 005 ..!'L = ].
(iii.) sin (180° — A) = sin A. (iv.) Cos 80° = %

3. Prove the following formula ;
(i.) Sin (A + B) = sin A cos B + cos A sin B.
(ii.) Cos B — ¢cos A = 2 sin § (A + B) sin & (A — B).
(iii.) 2sin® A =1 — cos 2 A.
4. Solve the triangle in which a, b, C, are given.
Example. ¢=17,5 =4, C =407 find A and B;
given log 11 = 1-041393 ; log 3 = 477121 ;
log cot 20° = 10-438984 ; log tan 36° 50’ 41" = 9-874662,
5. If a + B + = 180°, shew that, (i.) sin (a + B) sin (a + ) = &in B sin v;
and (ii.) sin 2g + sin 28 + sin 2y = 4 sin a sin B sin .
sinA sinB snC
T T e
7. A persou observes the angle of elevation of an inaccessible ohject to be 45°, and
after walking forward 824 yards up a hill inclined at 80°, he observes the angle of eleva-

tion to be 607, Find the height of the object.
8. Find the radius of the eivele in which an are of 30 feet subtends an angle of 202,

w being equal tod2.

6. In any triangle,
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1. Define a plane angle, square, rhombus, and* parallel straight

lines. Can you give any other definition of parallel straight lines ¥
2. Of what use are the Postulates and Axioms ?

3. If two angles of a triangle be equal to each other, the sides
also which subtend the equal angles shall be equal to each other.

4. Enunciate and prove Prop. VIIL.

5. Draw a straight line at right angles to a given straight line
from a given point in the same.

6. Any two angles of a triangle are together less than two right
angles. Prove all the cases.

7. Deseribe a triangle that shall have its sides equal to three
given straight lines. What is the condition respecting the three
lines? Where would the construction fail without it ?

8. If a straight line falling upon two other straight lines make
the exterior angle equal to the interior and opposite angle upon the
same side of the line; or make the two interior angles upon the
same side together equal to two right angles; the two straight
lines shall be parallel to each other.

9, The straight lines which join the extremities of two equal and

parallel straight lines towards the same parts, are also themselves
equal and parallel.

10. Triangles upon the same base and between the same parallels
are equal to one another.

11. If the square described upon one of the sides of a triangle
be equal to the squares described upon the other two sides; the
angle contained by these two sides is a right angle.

12. Two adjacent sides of a rhomboid being drawn, show how to
complete the figure.

13. If the diagonals of a quadrilateral figure bisect each other at
right angles, the figure is a square.
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1. Define force. How is accelerating force measured? Distinguish it from
moving force.

2. What is the condition of equilibrium on a lever? Give examples of each
kind. The arms of a lever being 2 and 10 inches, what force at the end of the
shorter arm will balance a weight of 10 Ibs. at the end of the longer ?

3. At what point of a lever, 7 inches long, must a fulerum be placed, so that
10 1bs. at one end may balance 18 lbs. at the other end ?

4. In the single movable pulley with parallel strings, find the relation between
the power and weight. When the power has descended through 2 feet, how
high has the weight been raised ?

6. Define the centre of gravity of a body or system of bodies. Find that of
four equal particles placed at the corners of a square, and of three equal particles
placed at the corners of a triangle.

6. Find the velocity of a falling body at the end of 5 seconds, the whole space
described, and the space described in the last second, gravity being 32-2.

7. How are forces represented by lines? Enunciate the parallelogram of
forces. Explain the composition and resolution of forces.

8. State the second law of motion, and give experimental proofs.

9. A boat is being pulled at right angles to the course of a stream at the rate
of 4 miles an hour, the stream running at the rate of 3 miles an hour, find the
direction and velocity of the boat.

10. Explain fully the action of the syphon.

11. Describe the barometer, and mention some of the uses to which it has
been applied.

12. How is sound propagated? At what rate? Distinguish between a
musical note and a noise, Account for the existenee of echoes,

13. Name the primary eolours. Explain the formation of the rainbow.

14 State Kepler's laws of planetary motion.
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I. ZOOLOGY.

1. What is the usual classification of the animal kingdom adopted by
writers on Zoology, and on what principle is this classification based ?
“ clags,” and “ sub-kingdom,”

i1 3

2. Define the terms ““species,” “ order,
and show how they are applied.

3. Make a table of the chief orders of the class * mammalia,” with one
or two examples belonging to each.

4. Arrange under their proper class, order, and'sub-kingdom, the
following animals :—the lion, the horse, the sheep, the rabbit, the whale,
the eagle, the hen, the herring, the lobster, the bufterfly, the spider, the
snail, and the starfish ; and give, if you can, the scientific names of these
examples.

5. Deseribe the different stages in the existence of the silk-worm.

6. Mention any animal products, useful in commerce or the Arts, which
may be known to you; and explain their uses and applications.

7. Show proofs of intelligent contrivance in the trunk of the elephant,
in the wing of the bat, in the web-foot of agquatic birds, and in the human
hand.

II. PHYSIOLOGY.

1. Of what subjects does Physiology treat ? How is it distingunished
from Zoology, and from Anatomy ?

2. What functions of the animal body are specially connected with the
maintenance of life ¢

3. Describe the process by which food is converted into the substanece
of the animal frame. -

4. What connexion is there between the structure of the teeth and the
kind of food upon which animals live? Show this by reference to the
teeth of man, of the horse, of the dog, and of the rabbit.

5. What are the chief constituents of the blood 7 Deseribe the means
by which its eireulation and its purification are effected.

6. Describe the human eye and ear.  Show how the functions of sight
and of hearing are performed. '

7. What functions are performed by the following parts of the body—
the brain, the nerves, the liver, the stomach, the heart, the skin? TDe.
seribe in detail any of these organs, with the structure of which you may
be acquainted. b
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[.—LAND SURVEYING AND MENSURATION.

1. Find the area of a rhombus whose side is 15 feet 4 inches, and
perpendicular height 6 feet. What is the acreage of a rectangular
field whose length is 1375 links, and breadth 95 links?

2. What is the area of a circular plot of ground whose diameter
is three chains?

3. What is the rule for determining the area of a plain surface
bounded by an irregular line ?

4. Deseribe the Theodolite, and Gunter’s Chain; and explain
their uses.

5. The area of a rectangular field is 40A. Or. 38p., and one side
is double the other. What are its sides ?

6. Given the several offsets, 12, 18, 14, 6, 8, 9, taken at one
chain’s length. Construet a field-book, with these measurements,
and give the plan and area of the field.

II.—MARINE SURVEYING AND NAVIGATION.

1. Deseribe the Mariners’ Compass. What instruments are
essential in navigating a ship at sea ¥

2. What are the various modes of ascertaining the latitude by
observation ¥ What corrections are necessary in deducing the
latitude from the meridian altitude of the sun?

3. Describe the method of finding the longitude by Chronometer.
4. What is the distinction between ¢ Parallel,” ¢ Middle Latitude,
and ¢ Mercator's’ Sailing ?

5. What is meant by ¢ Great Circle Sailing’? What advantages
does it possess over the methods mentioned in the last question ?
Is it practicable in all parts of the world ?

6. How would you proceed to survey a harbour, from a base line
on shore 7

7. Deseribe the method of deducing the longitude from a lunar
obzervation 7  What are the most convenient Stars for taking lunar
distances 7

§. Deseribe the Sextant and explain its use. In what respects

does it ditfer from the Quadrant ?


















